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Table S1

Measured transition frequencies and residuals for three isotopomers of the mecpHBr complex.




mecp…H79Br

mecp…H81Br

mecp…D79Br

JK-1K-1JK-1K-1
FF
/MHz
kHza
/MHz
/kHz
/MHz
/kHz

404303









11/29/2
 8154.1859
-1.2
 8081.6256
 1.0
 8170.3631
-3.6


 9/27/2
 8154.0072
 1.7
 8081.5460


 0.6
 8170.2014
 1.9


 7/25/2
 8162.4542
-0.5
 8088.6366
 1.6
 8178.9514
 0.9


 5/23/2


 8087.2486
-0.5
 8177.1229
-0.1

414313









11/29/2
 7968.8511
 0.8
 7899.6858
 0.5
 7983.0429
 4.6


 9/27/2
 7976.2581
 2.0
 7905.9110
 1.6
 7990.7154
 2.1


 7/25/2
 7983.2847
-2.9
 7912.2292
 0.5
 7997.7022
-5.1


 5/23/2
 7974.8713
-2.0
 7905.0163
-2.8



413312









11/29/2
 8361.3253
-2.2
 8284.9683
 0.3
 8380.110
 0.6


 9/27/2
 8368.5583
-0.6
 8291.0703
 0.9
 8387.6030
-1.1


 7/25/2
 8371.1839
 0.1
 8293.1900
 0.3
 8390.3480
-1.8


 5/23/2
 8362.5376
-0.1
 8286.0812
-0.4
 8381.3815
-3.4

423322









11/29/2
 8160.4585
-3.9
 





 9/27/2
 8190.0395
 1.0
 8113.4509
-1.6




 7/25/2
 8180.0178
 2.5
 8104.9973
 0.2



422321









11/29/2
 8176.9443
 0.5
 8104.4232
-0.8
 8193.7659
 2.2


 9/27/2
 8205.6031
-2.2
 8128.5056
 0.7




 7/25/2
 8195.9595
 2.2
 8120.2971
-0.0



505404









13/211/2
10181.8122
-1.6
10091.3638
-0.0
10201.7390
 2.4


11/29/2
10182.4167
 0.0
10091.8857
-0.8
10202.3649
 0.8


 9/27/2
10187.4191
 0.4
10096.0856
-0.2
10207.5489
 5.4


 7/25/2
10186.1994
-0.3
10095.1197
-1.9
10206.2973
 5.1

515414









13/211/2
 9960.9293
 0.4
 9874.1066
 0.6
 9978.6841
 -3.6


11/29/2
 9964.6686
 0.4
 9877.2629
-0.0
 9982.5583
  0.9


 9/27/2
 9968.2040
 1.5
 9879.7343
-1.2
 9986.4629
 1.7


 7/25/2
 9964.5754
 0.2
 9876.9495
 0.8
 9982.5595
-6.6

514413









13/211/2
10450.5000
 4.3
10354.8353
-2.4
10473.9751
 0.3


11/29/2
10453.9554
 2.5
10357.8143
 1.4
10477.5336
 0.2


 9/27/2
10456.3126
 1.4
10359.7056
 0.4
10480.0514
 2.4


 7/25/2
10451.7336
-3.7
10355.9979
-1.0
10475.2644
 1.1

524423









13/211/2
10205.6114
-2.2
10114.7234
-1.0
10226.2451
-3.3


11/29/2
10220.1950
-0.3
10127.0053
 0.6
10241.3493
 1.5


  9/27/2
10218.4985
 0.2
10125.5000
 0.5
10239.6188
 1.8


  7/25/2
10202.6890
 3.5
10112.3974
 1.2



523422









13/211/2
10244.7939
 0.6
10148.2912
-1.2
10273.8542
-1.2


11/29/2
10252.0280
-0.5
10157.4393
-1.1
10274.5452
-3.3


  9/27/2
10256.2910
-0.2
10158.6647
 1.3
10282.3637
 2.9


  7/25/2
10235.0280
 0.6
10143.4668
 1.4



606505









15/213/2
12201.2769
 4.8
12093.2571
-1.7
12224.7180
-4.3


13/211/2
12202.1770
-0.7
12094.0198
 2.3
12225.6546
-0.4


11/29/2  
12205.4466
-0.2
12096.7439
 2.3
12229.0509
 0.8


  9/27/2
12204.2243
 1.9
12095.7331
-1.2
12227.7859
-2.5

616515









15/213/2
11950.2268
-0.7
11845.9433
-0.1
11971.4834
 3.2


13/211/2
11952.2456
-1.0
11847.7003
 1.5
11973.5528
 5.0


11/29/2
11955.7756
-1.3
11850.5981
-1.1
11977.2143
-3.0


  9/27/2
11953.0398
-1.3
11848.3819
-1.0
11974.3541
-0.2

615514









15/213/2
12536.7219
-3,2






13/211/2
12531.7368
 3.3






11/29/2
12540.2841
-0.5






  9/27/2


12531.5070
-3.8





a   = obs - calc

